41/ The cost of international travel is decreasing, and tourism is increasing in many
countries. What are the advantages and disadvantages of the rising trend of tourism for

countries?

There is no doubt that the number of people who travel because of low cost of
international travel has increased tremendously in recent years. In this essay, | am going
to discuss the merits and demerits of the climbing trend of tourism for nations.

In terms of the positive side, one of the most significant benefits of Ft—he\this rising trend

Commented [ielts1]: (Definite article is incorrectly used here;
so, it has been omitted.)

For better understanding please explore the link below:-
http://www.englishteachermelanie.com/grammar-when-not-to-use-
the-definite-article/

Commented [ielts2]: spend (Incorrect verb form is written-
modal verbs are always followed by the main verb in its base form.
E.g. He always makes me laugh. E.g. He will come today.)

Modal verbs:

https://www.myenglishpages.com/site php files/grammar-lesson-
modals.php#.VQgm3IYXESV.

Please explore the below video link to have better understanding on
modal verbs.

https://www.youtube.com/watch?v=ZC710CZYv6k

is that it may increase the countries’ economy. The main reason given to support this
claim is that tourists may \spent\a lot of money when they visit a foreign country, which
may assist in \improve\ the economy of this nation. Moreover, it perhaps Lgive\ some

people a chance to travel, such as poor individuals. This is because }befeﬂ# many years
ago, rich people only could travel to another country. Thus, decreasing the cost oﬂl
international travel helps a lot of people to achieve their dreams by visiting other
nations. Conversely, if they did not do so, the poor folks would not be able to travel.

However, some people strongly believe there are some disadvantages of this increasing
trend as well. Firstly, the most substantial drawback is that it may destroy the nations’
culture. The reason for this is that some people want to ‘complete\their traditional habits
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complete this structure. The definite article “the” in grammar is a 31

good, suitable replacement has been provided.
2) Preposition is required to complete the structure ... [4]

when they travel. For instance, a person who drinks alcohol}hd may kie\ not want to stop
drinking it in \Islam\ countries. Thus, he may impact bﬂ\them negatively. Secondly, this k
may also damage the environment. This is because some tourists may ruin forests or
public parks, which ﬁsHpIays\ a crucial role in producing oxygen. Hence, if\tourist\
misbehaved in other countries, they will influence this country in \the

negative way.

[ Commented [ielts9]: (This verb is superfluous and incorrect to
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In conclusion, although there are some positive aspects of this krowingL there are
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numbers of drawbacks that should be handled properly.
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improving (Gerund should come here. Revise non-finite verb forms.)
Please explore this link:

https://guidetogrammar.org/grammar/gerunds.htm

Infinitives

https://learnenglish.britishcouncil.org/english-grammar/infinitive

Gerunds and Infinitives:
Verb List:

http://guidetogrammar.org/grammar/verblist.htm
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gives (Maintain subject verb agreement.

The main subject is singular here (it), so write this verb in its singular form.

E.g. He plays daily. E.g. They play daily. (he- singular, plays- singular = they- plural + play — plural.)

E.g. Five kilometers is a long distance to run. (Now, 5 kms is 'one' entity, so write 'is' as verb here)

Explore these links related to subject verb agreement. Thanks
https://webapps.towson.edu/ows/sub-verb.htm
http://writing.wisc.edu/Handbook/SubjectVerb.html

https://www.grammarbook.com/grammar/subjectVerbAgree.asp

https://www.grammarbook.com/grammar/subjectVerbAgree.asp
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the (Definite article is required to complete this structure. The definite article “the” in grammar is a

determiner that introduces or refers to a specific noun, or specifies the given noun.

EXAMPLES
We went on a walk in the forest yesterday.

Where is the bathroom?



Turn left and go to number 45. Our house is across from the Italian restaurant.

My father enjoyed the book you gave him.)

Please visit the links:

https://www.grammar-monster.com/glossary/definite article.htm

https://learnenglish.britishcouncil.org/english-grammar-reference/definite-article

https://www.youtube.com/watch?v=f4By7Q3vJDg

https://www.khanacademy.org/humanities/grammar/parts-of-speech-the-modifier/introduction-to-

adjectives-and-articles/v/definite-and-indefinite-articles

https://www.youtube.com/watch?v=6wpPGJQE7T4

https://www.myenglishpages.com/site php files/grammar-lesson-articles.php#.VROPhVYxFSU
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continue with (1) The word choice is not good, suitable replacement has been provided.
2) Preposition is required to complete the structure
For better understanding please explore the link below:-)

https://www.gingersoftware.com/content/grammar-rules/preposition/
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(1) The punctuation has been incorrectly used here as it is not required. So, omit it.
For better understanding please explore the link given below:-

https://www.myenglishpages.com/site php files/writing-punctuation-tips.php

2) This word is not making any sense in the structure so has been deleted.)
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Islamic (Formation of word is not correct here; so, the mistake has been corrected by providing
appropriate word.)
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(Preposition is not required here; so, preposition used has been omitted.

For better understanding please explore the link given below:-)

https://www.grammarbook.com/grammar/probPrep.asp
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(The auxiliary verb form ‘are/is/am’, etc. is never accompanied with verb in its base form. So, it is

incorrect to say: “l am say that you do this.” Similarly, the way you have written this expression is also
incorrect here. )
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play (Maintain subject verb agreement.

The main subject is plural here (forests or public parks), so write this verb in its plural form.)



